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. Teaching should be preceded by-

A) Story telling B) Checking up of homework
C) Class attendance D) Motivation of students

. Universalisation of education means-

A) Make special efforts to provide education to weaker section of society
B) Enroll all eligible students in school

C) Provide primary education for all

D) To enroll and retain all eligible students in the school

. Learning is-

A) Modification of behavior B) Inculcating skills
C) Purposeful activity D) Permanent behavioral change

. Distance Education is mode of-

A) Informal Education B) Formal Education
C) Non-formal Education D) None of these

. Which of the following statement is not correct?

A) Audio-visual media is the strongest form of effective teaching
B) Cable TV, E-mail, Internet are not form of mass media

C) Radio is an effective medium of propaganda.

D) The earliest form of audio-visual was cinema.

. The use of audio-visual aids helps the teacher in-

A) Making the lesson interesting

B) Making the lesson effective

C) Having more time to relax during the teaching
D) Solving the personal problems of the students

Computer is an-
A) Interactive teaching aid B) Audio aid
C) Teaching machine D) Illustrative aid

. Which is the highest policy making body in Education in India?

A) Planning Commission B) MHRD
C) NCERT D) UGC

. Which of the following word was added to the Preamble to the constitution Vide 42™
Amendment?
A) Unity B) Dignity C) Integration D) Oneness

. India is a-

A) Sovereign Democratic Socialist Republic

B) Sovereign Socialist Secular Republic

C) Sovereign Democratic Republic

D) Sovereign Socialist Secular Democratic Republic



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

What was the other name of Hunter Commission?
A) Indian Education Commission

B) Indian University Commission

C) International Commission

D) None of the above

NCTE was established in -

A) 1995 B) 1993 C) 1986 D) 1973
Kindergarten schools owe their concept to-

A) Frobel B) Montessori C) Dewy D) Socrates
If the students demand repetition of certain topics, the teacher should-

A) Ask them to study at home with the help of some tutor
B) Do the needful

C) Ask them to keep quite

D) Ignore them

A good teacher means-

A) Who loves the students

B) Who become friendly with the students
C) Who creates discipline in the classroom
D) Who inspires the students

If a teacher is missing his teaching periods in your school, what will be your duty?
A) Will try to know the reason from that teacher

B) Will have no concern

C) Will try to know the reason from other teachers

D) Will inform the principal

When you go to the class for teaching for first time, which of the following will you do
first-

A) Give your introduction to the students and will ask them of themselves

B) Influence them more and more

C) Ask questions from the tough syllabus to understand their prior knowledge

D) See smiling towards all

To maintain discipline in the class teacher should
A) Teach after taking their permission

B) Behave reasonably

C) Over-control the students

D) Know their views

To identify non-social children in your class, you as teacher would apply-
A) Aptitude test B) Socio-metric test

O) L.Q. test D) Achievement test

When having heterogeneous group to teach, teacher should follow-

A) Lecture method B) Demonstration method

C) Project method D) Lecture cum demonstration

(2)



21.

22.

23.

24.

25.

26.

27.

28.

29.

Junior teachers should respect the seniors because-
A) Of their experience

B) Of their expertise

C) Of their age

D) They will be instrumental in juniors promotion

Teachers relationship with students should be-
A) Formal B) Informal C) Affectionate D) Professional
The school principal is rebuking you every day. You should accordingly-

A) Resign your job

B) Stand against the principal

C) Make a serious effort to resolve the issue with the principal

D) Involve teachers and parents against the attitude of the principal

Evaluation is a-

A) Comprehensive process B) Continuous process
C) Qualitative process D) All of these

The purpose of external examination should be-

A) To test students cramming power

B) To see whether a student can pass or fail
C) To test the real abilities of the students

D) To test the level of students understanding

Regular checking of home work by teachers is necessary because-
A) Children will hold him in awe

B) Children will know strong and weak points

C) Children will learn the regularity

D) Children will understand their responsibility

A school library should have-

A) Film magazines

B) Good books on lives of great man

C) Deductive novels and stories

D) Books on lives and love affairs of film stars

What do you understand by reference book-
A) Such a book cannot be issued

B) Such a book cannot be taken out of library
C) Such a book can be read only in the library
D) All of the above

A library is essential so that-

A) Students may sit and discuss their problems
B) Students may read there in the free period

C) It may create proper environment for the study
D) It becomes a meeting place for the teachers
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

UNESCO stands for-

A) United Nations Educational, Scientific and Cultural Organization

B) United Nations Educational Society and Council Organization

C) United Nations Electrical Society and Cultural Organization
D) None of the above

Find the next number in series 512, 729, 1000, ?
A) 1728 B) 1100 C) 1331

Find the missing number in series 4, 28, ?, 1372
A) 186 B) 196 C) 528

Find the missing number in series 10, 22, 46, 94, 190, ?
A) 300 B) 382 C) 380

Which word does not belong with the others?
A) Triangle B) Circle C) Sphere

Choose the word which is least like in the group
A) Two B) Three O) Six

Choose the number which is least like in the group
A) 13 B) 31 C) 41

Find the correct match based on BRISTLE : BRUSH
A) Arm: leg B) Stage : curtain C) Recline : chair

Find the correct match based on ODOMETER : DISTANCE
A) Scale : weight B) Length : width C) Inch : foot

Find the correct match based on FINCH : BIRD
A) Frog : toad B) Elephant : reptile C) Dalmatian : dog

What is synonym for DETEST
A) Argue B) Hate C) Discover

What is opposite of WITHDRAW
A) Reduce B) Need C) Advance

What is opposite of MEAGER
A) Kind B) Generous C) Thoughtful

D) 1231

D) 728

D) 372

D) Oval

D) Eight

D) 51

D) Key : piano

D) Mileage : speed

D) Collie : marsupial

D) Reveal

D) Want

D) Copious

In a certain code language, if the word NODE is coded as KLLAB, then how is the word

UNIVERSITY coded in that language ?

A) SLGTCPQGRW B) RKFRBOQFQV

C) QJERANOEPU D) RKFSBOPFQV

In a certain code language, if MENTION = 49 and NEUROTIC = 64, then MISSISSIPPI = ?
A) 111 B) 100 O) 121

C))

D) 81
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46.

47.

48.

49.

50.
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52,
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54.
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56.

57.

If “ZEBRA’ is written as ‘85291’ , then ‘NOTEPAD’ can be written as
A) 4514603 B) 5625714 C) 6736825 D) 5615624

If 'South-east' is called 'East’, 'North-west' is called 'West', 'South-west' is called 'South’

and so on, what will 'North' be called?
A) East B) North-East C) North-West D) South

Five friends A, B, C, D and E are staying in the same locality. B's house is to the east of
A's house and to the north of C's house. C's house is to the west of D's house. D's house is
in which direction with respect to A's house?

A) South-East B) North-East C) East D) West

A man walks 1 km towards East and then he turns to South and walks 5 km. Again he
turns to East and walks 2 km, after this he turns to North and walks 9 km. Now, how far

is he from his starting point?
A) 7 km B) 4 km C)3 km D) 5 km

What is the monthly salary of A?
I. A gets 15% more than B while B gets 10% less than C.
II. C monthly salary is Rs.2500.
A) Rs 2587.5 B) Rs 2487.5 C) Rs 2505 D) Rs 2495

BCB, DFF, FIJ, HLN, ___
A)JOQ B) JNQ C) JNR D) JOR

The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is
the age of the youngest child in years?
A)4 B) 7.6 O 10 D) 8

The ratio of the number of boys and girls in a college is 7 : 8. If the percentage increase
in the number of boys and girls be 20% and 10% respectively, what will be the new ratio?
A) 7:5 B) 21:22 C) 17:18 D) 9:8

If 20% of a = b, then b% of 20 is the same as:
A) 80% of a B) 4% of a C)20% of a D) 5% of a

A and B together have Rs. 1210. If 4/15 of A's amount is equal to 2/5 of B's amount, how
much amount does B have?
A) Rs. 550 B) Rs. 480 C) Rs. 484 D) Rs. 605

What is the day on 25 December, 20177
A) Thursday B) Saturday C) Monday D) Friday

Choose the number which is least like in the group: 71, 73, 77, 79
A) 77 B) 71 C) 73 D) 79

Pointing to a woman, Shyam said, "Her granddaughter is the only daughter of my

brother." How is the woman related to Shyam?
A) Sister B) Grandmother C) Niece D) Mother
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

Pointing to a photograph Radha says, "He is the son of the only son of my grandfather."
How is the man in the photograph related to Radha?

A) Uncle B) Father C) Brother D) Nephew

29. If ‘+” means ‘x ‘, ‘X’ means ‘~’, ‘=" means ‘-‘ and ‘-‘ means ‘+’. Then what s value
of expression 100+5-300+-50x5

A) 150 B) 710 C) 50 D) 790

A and B together can do a piece of work in 8 days. If A alone can do the same work in 12
days, then B alone can do the same work in?
A) 24 days B) 16 days C) 20 days D) 28 days

Which of the following country was not affected by Arab Spring started in 20117?
A) Egypt B) Oman C) Syria D) Afghanistan

Who has written the book “Conflicts of Interest” on India’s green movement?
A) Salim Ali B) Sunita Narain C) Ramesh Agarwal D) Tulsi Gowda

The sensitive index of National Stock Exchange of India is popularly known as-
A) SENSEX B) CRIS C) NIFTY D) MCS

Who is the Ireland’s first Indian origin Prime Minister?
A) Leo Varadkar B) Simon Timothy = C) Tom Varadkar D) None of these

Who among the following Indians was conferred the prestigious ‘National Medal of Arts
and Humanities’ awarded by US President in February 20127

A) Dr Montek Singh Ahluwalia B) Dr Amartya Sen

C) Shri Narayan Murthy D) Dr Manmohan Singh

World Day for Water is observed on which of the following dates?

A) 22 August B) 22 July C) 22 October D) 22 March

Part XV (Article 324-329) of the Indian Constitution deal with which of the following?
A) Local government B) Tribunals

C) Elections D) Appointment of Judges

How long an advocate should have practiced in a High Court to be appointed as a Judge
of Supreme Court of India?

A) 10 years B) 15 years C) 18 years D) 5 years

Oval Stadium in England is associated with

A) Polo B) Cricket C) Hockey D) Football

The book ‘Straight Talk’ has been authored by which Indian political personality?

A) Manmohan Singh B) M. Venkaiah Naidu

C) Shashi Tharoor D) Abhishek Manu Singhvi

As per the Right to Education Act, 2009, private and specified category schools shall
admit percent children belonging to weaker section and disadvantaged group?

A) 20% B) 30% C) 40% D) 25%

(6)



72.

73.

74.

75.

76.

77.

78.

79.

80.
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82.

83.

84.

85S.

In which among the following states, Armed Forces (Special Powers) Act was imposed
for the first time?

A) Manipur B) Punjab

C) Jammu and Kashmir D) 7 North East States

All Minority Educational institutions are entitled to exercise rights enshrined in which
among the following articles of Constitution of India?
A) Article 27 B) Article 28 C) Article 29 D) Article 30

“If the poor boy cannot come to education, education must go to him”. Who among the
following personalities of India is known to have made this famous statement?

A) Dr Rajinder Prasad B) Dr A.P.J. Abdul Kalam

C) Swami Vivekananda D) Pandit Jawahar Lal Nehru
In which year India first took part in Olympic games?

A) 1920 B) 1929 C) 1947 D) 1952
Which one of the following countries is not a member of G7?

A) Japan B) Italy C) France D) China
Name the first foreign recipient of Bharat Ratna.

A) R.N. Shukla B) Khan Abdul Gaffar Khan
C) V.R.Gill D) D.B. Mahawar

Which of the following is used in Pencil?
A) Graphite B) Silicon C) Charcoal D) Phosphorous

Non Stick cooking utensils are coated with:
A) Black paint B) Polystyrene C) PVC D) Teflon

Which of the following is the lightest metal?
A) Mercury B) Lithium C) Lead D) Silver

Production of chlorofluorocarbons (CFC) gas which is banned in India, is used in which
of the following domestic products?

A) Television B) Refrigerator C) Tube Light D) Cooking Gas
The largest gulf in the world is:

A) Gulf of Mexico B) Persian Gulf

C) Gulf of Carpentaria D) Gulf of Mannar

On which date Swachh Bharat Abhiyan was launched?

A) 14™ April B) 26" January C) 15" August D) 2™ October

India’s golden triangle is a tourist circuit which does not connect which of the following
city?

A) Jaipur B) Delhi C) Lucknow D) Agra
Pahal scheme of Government of India is related with-

A) Agriculture loan B) Direct Transfer of LPG subsidy
C) Women Education D) Child Education
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86.

87.

88.

89.

90.

On Teacher’s Day 2017, which portal providing national digital infrastructure for
teachers was launched?
A) DIKSHA B) SHIKSHA C) GYAN D) SHAKTI

Name the search engine designed exclusively for the student community with
information related to education.
A) Eduoogle B) Schoogle C) Snoogle D) Skoogle

Which country has the highest incidence of pollution linked deaths in the world?
A) China B) Bangladesh C) India D) Kenya

What is the name of the living goddess of Nepal?
A) Kumari B) Rani C) Raj Kumari D) Both (A) and (C)

Bangladesh Prime Minister Sheikh Hasina Floated which plan at the United Nations to

find a solution to the Rohingya crisis?
A) 8 point plan B) 7 point plan C) 6 point plan D) 5 point plan

ENGLISH LANGUAGE (Q. No. 91-120)

Choose the option which is closer in meaning to the given words (Q. 91-95)

91.

92.

93.

9.

9s.

Abandon

A) Retain B) Abide C) Leave D) Chase
Didactic

A) Egoistic B) Ascetic C) Energetic D) Preachy
Exorcise

A) Exercise B) Expel C) Accelerate D) Exalt
Junk

A) Jolt B) Jargon C) Rubbish D) Healthy
Ratify

A) Sanction B) Probe C) Trivialize D) Condemn

Complete the following proverbs (Q. 96-100)

96.

97.

98.

Beggarscan’tbe ................
A) Helpers B) Givers C) Choosers D) Takers

Don’t judge a book by its .............
A) Design B) Leaf C) Cover D) Title

Like father, like..........
A) Mother B) Son C) Daughter D) Sister
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99. When the going gets tough, the tough gets........
A) Easy B) Difficult C) Soft D) Going

100. Fortune favors the.........
A) Bold B) Critic C) Fake D) Honest

Give one word for the following expressions (Q. 101-103)

101. The original inhabitants of a country are called....

A) Foreigners B) Aborigines C) Emigrants D) Diasporas

102. A partner in crime is called ........
A) Criminal B) Accomplice C) Skeptic D) Convict

103. A person who claims of God as unknowable is known as an .......

A) Atheist B) Irreligious C) Agnostic D) Iconoclast

Choose the correct option to fill in the blanks (Q. 104-107)

104. The chief, with all his men,...... massacred.

A) were B) was C) have been D) are
105. We have finished our work,........ we?

A) aren’t B) haven’t C) didn’t D) shouldn’t
106. He asked me what I......

A) wants B) have wanted C) wanted D) did want
107. Not ...... than hundred people were killed in the communal violence.

A) less B) lesser C) fewer D) few

Choose the correctly punctuated sentence (Q. 108-110)

108.
A) My aunt who lives in Mumbai is a doctor.
B) My aunt, who lives in Mumbuai, is a doctor.
C) My aunt, who lives in Mumbai is a doctor.
D) My aunt who lives in Mumbai, is a doctor.

109.
A) I met a beautiful, European woman.
B) I met a beautiful European woman.
C) I 'met a beautiful European, woman.
D) I met a beautiful, European, woman.

110.
A) Looking straight at her, he said, ‘I can’t help you.’
B) Looking straight at her, he said, I can’t help you.
C) Looking straight at her, he said, ‘I can’t help you’
D) Looking straight at her he said, ‘I can’t help you.’

®)



111

112.

113

114.

Read the paragraph and choose the correct option to answer the questions (111-115)
on the basis of your reading:

An earthquake comes like a thief in the night, without warning. It was necessary,
therefore to invent instruments that neither slumbered nor slept. Some devices were quite
simple. One, for instance, consisted of rods of various lengths and thicknesses which
would stand up on end like ninepins. When a shock came it shook the rigid table upon
which these stood. If it were gentle, only the more unstable rods fell. If it were severe,
they all fell. Thus, the rods by falling and by the direction in which they fell, recorded for
the slumbering scientist, the strength of a shock that was too weak to waken him and the
direction from which it came. But, instruments far more delicate than that were needed if
any really serious advance was to be made.

The ideal to be aimed at was to devise an instrument that could record with a pen on
paper the movements, of the ground or of the table, as the quake passed by. While I write
my pen moves but the paper keeps still. With practice, no doubt, I could, in time, learn to
write by holding the pen still while the paper moved. That sounds a silly suggestion, but
that was precisely the idea adopted in some of the early instruments (seismometers) for
recording earthquake waves. But when table, penholder and paper are all moving how is
it possible to write legibly? The key to a solution of that problem lay in an everyday
observation. Why does a person standing in a bus or train tend to fall when a sudden start
is made? It is because his feet move on, but his head stays still.

Important for:

. This passage says that early instruments for measuring earthquakes were
A) Faulty in design B) Expensive
C) Not sturdy D) Not sensitive enough

Why was it necessary to invent instruments to observe an earthquake?

A) Because an earthquake comes like a thief in the night

B) To make people alert about earthquake during their conscious as well as
unconscious hours

C) To prove that we are technically advanced

D) To experiment with the control of man over nature

. A simple device which consisted of rods that stood up on end like ninepins was
replaced by a more sophisticated one because it failed

A) To measure a gentle earthquake

B) To measure a severe earthquake

C) To record the direction of the earthquake

D) To record the facts with a pen on paper

The everyday observation referred to in the passage relates to

A) A moving bus or train

B) The sudden start of a bus

C) The tendency of a standing person to fall when a bus or train moves suddenly
D) People standing in a bus or train

(10)



121.

122.

123.

124.

125.

126.

127.

128.

129.

115. The early seismometers adopted the idea that in order to record the earthquake, it is

A) The pen that should move just as it moves when we write on paper
B) The pen that should stay still and the paper should move

C) Both pen and paper that should move

D) Neither pen nor paper that should move

Fill in the correct option in the sentences given below: (Q. 116-120).

116. Don’tcry ..... spilt milk.

A) on B) about C) for D) over
117. I have not seen him...... last Wednesday.

A) for B) since C) about D) from
118. Gymnastics...... becoming popular.

A)is B) are C) were D) have been
119. Work hard lest you...... fail.

A) may B) might C) could D) should
120. If I....... one more question, I would have passed.

A) had answered B) would have answered

C) would answer D) answered

o=t W . = 121-150)

et s A o @

A) T B) o C) Tt D) &
e ¥ oy wfy & T @

A) = B) faw C) == D) @k T
T F I § A a0

A) T ™ B) df C) swmd D) w3

T Rig & S @ 9 @

A)  FHIRE B) &= C) 3r=dt = D) fi1

T & U7 §9 § YgF I

A) T B) @ C) = D) faws
IS w1 qafgerst T &

A) ™ B) T c = D) so=

3t # fawda:

A) T B) @™ C) fazmor D) WA

WW@?W%:

A)  seiate B) emfEE C) emffar D) snfirer
T v T @ E:

A) TR B) = C) = D)
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130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

A) e B) uRadd

s org o N F

A) R B) @

A A 5gd Rgemar:

A) T B) war

fh wien forq @ ord @

A) g B) ¥

Lo T ot AT @ & T ©:

A) T B) %

T M aTeT e

A) A B) sl

7ot R T TgE goT ©

A) T FA E? B) T e A
z!

oM P faehew & g &

A) T e feA B) &

FISH I fFheT ¢

A) @) B) T

- ¥ Y &

A) Frew B) d=

formrg duss &1 yA R famey H gl ®:

A) ? B) |

T 1 gF R U # U qerer @ ord ®

A) - e B) &9 &

-t @ o1 @

A) EEEhs B) m =W

Expedite &1 379 2:

A) R FEE B) ewd

Amendment & &t T8 faweT §:

A) e B)

Vocabulary &1 a4 2:

A) T B) foa®
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

159.

ffeRad staawr ¥ grafyud 7ol Q¥E—uo) & W T fohey & MR W AT

#R & Afash 3aT Ggfed diaT ® R P off o Suw T @ Rwm T gedt s,
TWI—Tod T8 I & 7 H AW TAEF A R Aew fva—aard fyamfa & e gue w9 A
fAfa em Tgr Smar 21

ﬁ?ﬁﬁgwaﬁﬁ%‘ﬂﬂﬁﬁ

A) FEEH B) e C) ddfed D) @@
fowarafe @ o &:

A) T & B) fama & fgo C) fama & @m D)  HreArm
ffda a1 fawew 2

A) fom mr B) fifd#r C) fmm D) fo@ T am
¥ 1 g o7 @

A) =M B) fowers G om D)
forea—amdt & ad 2

A) fava # g B) foa & =4 C) fova i fawer D) fova g

Uareft 3T (YA 151-180)

A) JEE3 $ B) fodzugs &

C) fenraas & D) g & Ygiee € HId HUS §

‘T o g ‘g eg3 fan fgma & um uge O

A) MH=T B) W&=T C) =w=Er D)

gondt Tt € g fd8 g a&:

A) 10 B) 35 C) 32 D) 30

Uzste fdat 3gt € de &

A) U B) ©9 c B D) =

‘Sar HEE € AdT sg-ugad feasu &

A) TII, AMT B) w=l SHer C) =a3 FAer D) fegst 9
T St =t

fsage wmae feg faozm »EOizg Har &

A T B) C) foaar D) fog

T feg asT A uIsie € IIST HIET IT& HEg YJIe Jds 8 gut & faar
Her J:

A) ferfi=s B) SO C) waux D) uHd
‘IH | A npfig der e feg fag¥ ferfia <t <93 It O

A) TEegr=mx B) fecaa=ga C) Faus=rgd D) wHA="X
HIT AE€ g€ § YI=dT ydr I

MAHS & . FETt

A) oHEdt B) »iut C) <t D) 39
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

A) Trlus 377 B) <& Jdg C) st dig D)
fHur feerar THwr

ffae = AIs fHgr »igg

A) Haer =T B) St =r C) ust = feds D)
feds feds

AIt FEE g  »miyEe § yar I

Jg darie § ... ot

A) Une B) WItEs C) wirgHt D)

qafes Hw

fegst g
JET =t =t

IS

‘Ifarr st HE, Ifanr &t 3&, afawr 37 gaft sfanr ... fam & = d9fiz 3

A) fera @& B) ¥#H3 2& =T C) #aH & =7 D)

ar
‘fifarg U arfasr O

A) JE & gt B) 918 € SEb C) Uar € =t D)

A) CICIURYCy B) Hiz® 3T C) W9 J=g D)
uHT &t &t yAr

g & o Ht ear fsb 98 grat Hig ... feg o=

A) IGar W™ B) 9T 3udt C) g1 uaHdl D)

Ht 919 9d" mfow € g® 43 U8 I

A) 1431 B) 1428 C) 1430 D)

Ht g 9" Afog € Auwest € aan fggl ag Afggs & disn

A) CISERCGCLIY B) Td & €2 (C) I IHEH D)

o< +t
It g& wAg fam afegar er adt &

A)  faAr arfe- B) ®el afeugar  (C) TOHI e D)

grgr grgr
‘HareHT fHwr 3 gdaftwi fam a<t & ggar o
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HINDI/PUNJABI VERSIONS (Q. No. 1-90)
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A)  Frobel

B) Montessori

C) Dewy
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A) 1728 B) 1100
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C) 528 D) 728

10, 12, 46, 94, 190, ? At feg Uz At o
A) 300 B) 382
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A) 23 B)

C) = D)

Find the correct match based on
BRISTLE:BRUSH:

A) Arm:leg B) Stage:curtain
C) Recline:chair D) Key:piano
Find the correct match based on

ODOMETER: DISTANCE:

A)  Scale:weight B) Length:width

C) Inch:foot D) Mileage:speed

Find the correct match based on
FINCH:BIRD:

A)  Frog:toad B) Elephant:reptile

C) Dalmatian:dog D) Collie:marsupial
What is synonym for DETEST:

A) Argue B) Hate

C) Discover D) Reveal
What is opposite of WITHDRAW:

A) Reduce B) Need

C) Advance D) Want
What is opposite of MEAGER:

A) Kind B) Generous
C) Thoughtful D) Copious

In a certain code language, if the word
NODE is coded ad KLAB, then how is the
word UNIVERSITY coded in that language:
A) SLGTCPQGRW B) RKFRBOQFQV
C) QIJERANOEPU D) RKFSBOPFQV
In a certain code language, if MENTION=49
and NEUROTIC=64, then MISSISSIPPI=?
A) 111 B) 100

c 121 D) 81

If ‘ZEBRA’ is written as ‘85291°, then
‘NOTEPAD’ canbe written as:

A) 4514603 B) 5625714

C) 6736825 D) 5615624

If ‘South-east’ is called ‘East’, ‘North-west’
is callsed ‘West’, ‘South-west’ is called
‘South’ and so on, what will ‘North’ be
called:

A) East B) North-East

C) North-West D) South

T FEITMNS A RS A RRE T H N
F R RMAMIT T I RIWA M T
TR, T HRY A A AL A TR R F RS

fea fadt 9=
A) 13 B) 31

O 4 D) 51
Find the correct match based on BRISTLE:BRUSH:

A) Arm:leg B)
0} Recline:chair D) Key:piano

Find the correct match based on ODOMETER:
DISTANCE:

A)  Scale:weight B) Length:width

C)  Inch:foot D) Mileage:speed

Find the correct match based on FINCH:BIRD:

Stage:curtain

A)  Frog:toad B) Elephant:reptile
C)  Dalmatian:dog D) Collie:marsupial
What is synonym for DETEST:

A)  Argue B) Hate

C) Discover D) Reveal

What is opposite of WITHDRAW:

A)  Reduce B) Need

C)  Advance D) Want

What is opposite of MEAGER:

A)  Kind B) Generous

C)  Thoughtful D) Copious

In a certain code language, if the word NODE is coded
ad KLAB, then how is the word UNIVERSITY coded
in that language:

A)  SLGTCPQGRW B) RKFRBOQFQV

C) QJERANOEPU D)  RKFSBOPFQV

In a certain code language, if MENTION=49 and
NEUROTIC=64, then MISSISSIPPI=?

A) 111 B) 100

c 121 D) 81

If ‘ZEBRA’ is written as ‘85291°, then ‘NOTEPAD’
canbe written as:

A) 4514603 B) 5625714

C) 6736825 D) 5615624

If ‘South-east’ is called ‘East’, ‘North-west’ is called
‘West’, ‘South-west’ is callsed ‘South’ and so on, what
will ‘North’ be called:

A)  East B) North-East
C) North-West D) South

Ug 39 ‘9, 4, 91, W m3 v fea Ho® feg afde
IS "W oEr wgd F wg ‘

wg F €39 femr few I ‘ar

gy @5 J1 3t R/ ‘F
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